HHYIITY YYBE bY AE
bI9IP!



OpTvavk «Karanra-iaa!»

BAARIE)




a)Kaprouka — OMJ1e aKblLJI

0) CamObIpara asblI



O10H: KAMJTAHHBIT KOKOC)»

14-6= 18-9= 16-7=
8+8= 15-9= 8+4=




OwH: «hUne. Yok.»

60-20=40
40-10=50 30+30=70

80+10=90 10+30=40
20+70=90



XeMueriep

6cM=...MM
4M=...CM
OM=...1IM

TcM8MM=...MM



KarThIHBIIVIAPHBI TYH-0MJIE COJIY

43, 24, 87, 11



KbIabIpaanika axKbLiI



| Opryayk «Tomapar-jaly




OonTviavk « Tanpla0bInJIa-a1al»







Oprviavk «boga-aal!»




HoM — OJ1e aKbLI




OpTtviavyk «boxaHn-Ha!»




OnaaJjara

Unxkek 2 (2,3), bopaara 5
apbIH 62



Ku4nnJj TOHIreH



